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TRUE/FALSE

1 : Globalization implies that the world is free from national boundaries and that it is really a
borderless world.

A :true

B : false

Correct Answer : A

2 . A transnational business firm operates only in the European Union.
A :true
B : false

Correct Answer : B

3 : A Japanese manager employed at the Toyota plant in Cambridge, Ontario is an expatriate.
A :true
B : false

Correct Answer : A

4 : Hofstede’s research on culture showed that national culture explains more differences in
work-related attitudes than in age.

A true

B : false

Correct Answer : A

5 : A collectivistic culture displays an orientation in which relationships and group decision
making are valued.

A :true

B : false

Correct Answer : A

6 : A cultural orientation where people belong to a loose social framework and their primary
concern is for themselves and their families is based on power distance.

A true

B : false

Correct Answer : B

7 : High uncertainty avoidance is associated with high risk taking.
A : true
B : false

Correct Answer : B

8 : While women'’s participation in the workforce is increasing, their share of the rewards of
participation is not increasing commensurately.

A :true

B : false
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Correct Answer : A

9 : The glass ceiling is a phenomenon unique to Canada and the United States.
A :true
B : false

Correct Answer : B

10 : A diverse workforce can improve a company’s marketing plans.
A :true
B : false

Correct Answer : A

11 : Individuals with ability diversity are entering the workforce in increasing numbers and are
productive members of the organization.

A true

B : false

Correct Answer : A

12 : Consequential theories of ethics emphasize the consequences or results of behaviour.
A true
B : false

Correct Answer : A

13 : Rule-based theories of ethics emphasize the outcome of the act in arriving at universal
moral rights and wrongs.

A :true

B : false

Correct Answer : B

14 : Whistle blowers can be perceived as either heroes or vile wretches.

A :true

B : false

Correct Answer : A

15 : Gender harassment involves implicit or explicit demands for sexual favours.
A :true

B : false

Correct Answer : B

16 : Distributive justice is the fairness of the process by which outcomes are allocated in an
organization.

A true

B : false

Correct Answer : B
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17 : The Internet and electronic innovation have made surveillance of employees more
widespread.

A : true

B : false

Correct Answer : A

18 : Working from home is called working from a satellite office.
A : true
B : false

Correct Answer : B

19 : North Americans are more suspicious of labour-saving robots than are the Japanese
because employers often use them to cut jobs.

A :true

B : false

Correct Answer : A

20 : Employees are more likely to support technology changes that increase the skill
requirements of their job.

A true

B : false

Correct Answer : A

MULTIPLE CHOICE

21 : What was the original term used to describe transnational organizations?
A : transglobal

B : international

C : multinational

D : globalized

Correct Answer : C

22 : When Dieter travels from his home in Europe to visit his daughter in Canada, he does not
recognize the symbols on the road signs. What is Dieter experiencing?

A : language differences

B : microcultural differences

C : language interpretation

D : educational differences

Correct Answer : B

23 : Which of the following best describes a transnational organization?

A : the global and national interests are linked in an overriding perspective

B : aprevalent ethnic viewpoint begins to be held strongly in the consciousness of managers

C : the organization’s nationality is held strongly in the consciousness of managers even though the organization
competes on aglobal scale
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D : the global viewpoint supersedes national 1SSUes

Correct Answer : D

24 : Xuang Lee uses personal connections to help his son obtain a job. What practice is he
engaging in?

A : favouritism

B : NAFTA

C : perestroika

D : guanxi

Correct Answer : D

25 : What would be the most effective way to launch a KFC franchise in China?

. develop an aliance with another Asian KFC franchise, such asin Japan or Taiwan, and share therisk in China
. develop a consortium of Western and Asian entrepreneurs to begin the KFC franchise in China

: develop ajoint venture with government bodiesin China

. develop arelationship with a broker in Singapore to identify sources for Asian venture capital

(W@

Correct Answer : C

26 : Which of the following countries is associated with lower labour costs for organizations?
. Canada

: United States

: Mexico

s taly

(W@

Correct Answer : C

27 : According to Hofstede, who most likely exhibits low power distance, short-term orientation,
and individualism?

A . South American employees

B : Japanese employers

C : North American managers

D : managersin the European Union

Correct Answer : C

28 : What is the key finding of Hofstede’s research?

. Age explains the mgjority of differencesin generational attitudes.

. Gender explains the majority of differencesin work-related attitudes between countries.

. National culture explains the majority of differencesin work-related attitudes between countries.

: The selected profession explains the majority of differencesin work-related attitudes between countries.

OO w>»

Correct Answer : C

29 : According to Hofstede’s cross-cultural research, what quality is most valued by Japanese
managers?

A :individualism

B : ashort time perspective

C : group loyalty and unity

D : highrisk taking
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Correct Answer : C

30 : Zack believes in promoting the best individuals, and gives monthly awards to those
employees who have achieved the most for the company. What is Zack promoting?

. high uncertainty avoidance

. consensus decision making

> individualism

. low risk taking

(W@

Correct Answer : C

31 : Cultures that value leisure time, freedom and personal control exhibit which of Hofstede’s
values?

A : power distance

B : short-term orientation

C : indulgence

D : uncertainty avoidance

Correct Answer : C

32 : What is an expatriate manager?

A : onewho has |eft atransnational organization to work for a competitor

B : one who worksin aforeign-owned company within his or her own country

C : onewho has given his or her allegiance to atransnational organization over a more national/domestic
perspective

D : onewho works in a country other than his or her home country

Correct Answer : D

33 : According to the textbook’s Business Guide to Cultural Differences, which characteristic is
similar for Japan and Mexico?

A : appointments

B : dress

C : gifts

D : negotiations

Correct Answer : B

34 : According to the textbook’s Business Guide to Cultural Differences, in which culture is a
small gift generally appreciated as a gesture of goodwill?

: Mexico

: Canada

: Saudi Arabia

. Japan

OO w>»

Correct Answer : A

35 : Which circumstance best describes the act of negotiating with a Mexican organization?
: Women on your negotiation team must wear long pants.

. 'Y ou must make an appointment before the meeting.

. Business cards should be exchanged at the onset of the meeting.

. Members of the Mexican organization will favour saying “maybe’ when meaning “no”.

OO w>»
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Correct Answer : D

36 : What is essential according to Japanese business culture?
A : punctuality

B : directness

C : shaking hands

D : making an appointment

Correct Answer : A

37 : Tina always uses her boss’s title when introducing him, and behaves in a formal manner.
What does she exhibit?

A . gender diversity

B : collectivism

C : power distance

D : socidism

Correct Answer : C

38 : Your goal as manager is to increase employees’ sensitivity to cultural differences among
people within your organization. Which of the following would help you achieve your goal?

A : requiring atime orientation with high uncertainty avoidance

B : encouraging employees to work asindividuals

C : forming teams based on cultural similarities

D : cross-cultural task forces or teams

Correct Answer : D

39 : What part of an organization is most significantly affected by the globalization of business?
: human resource management

. marketing

. management information systems

. operations

OO w>»

Correct Answer : A

40 : There have been significant demographic changes in the Canadian workplace. What has
this resulted in?

A : increasing diversity

B : decreasing diversity

C : increased legidation

D : the opportunity for use of lower-cost labour in other countries

Correct Answer : A

41 : Which of the following is considered a risk in the globalization of business?
. diversity must be akey strategy

: families will not be left intact

: values will begin to erode

. prejudices may prevent managers and employees from having cooperative interactions

(W@

Correct Answer : D
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42 : Why do managers believe that dealing with diversity IS important?

. to manage and motivate diverse work groups

. anincrease in foreign-born employees across Canada
. changing demographics

: multiple cultural differences

OO wm>»

Correct Answer : A

43 : Which statement best summarizes age diversity in Canada?
. Middle-aged adults are increasing in number while seniors are decreasing.
. Seniors are increasing in number while children and youth are decreasing.
. Youth areincreasing in number.

: Children and youth are increasing in number while seniors are decreasing.

OO w>»

Correct Answer : B

44 : Women occupy less than 10 percent of executive-level jobs in Canada. What is the term for
this phenomenon?

A : work obstacles

B : glassceiling

C : glasscliff

D : boardroom exclusion

Correct Answer : B

45 : Why is there a job shortage among middle-aged workers?
A : increased workforce

B : decreased workforce

C : organizations are growing globally

D : companies are getting flatter organizations

Correct Answer : D

46 : What term describes individuals born between 1965 and 1976?
- baby boomers

. Generation Y

. swing generation

. Generation X

(W@

Correct Answer : D

47 : Zainab is impatient, wants short-term gratification, and puts family before work. What
generation of workers does she most likely represent?

A : silent generation

B : baby busters

C : baby boomers

D : millennias

Correct Answer : B
48 : What generation of workers strives for moral rights and takes a more activist position on

employee rights?
A : baby boomers
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B : silent generation
C : generation X
D : generation Y

Correct Answer : A

49 : A manufacturer of products for outdoor enthusiasts offers flextime and the opportunity to
take up to four months in unpaid leaves of absence. What generation would find this type of
organization most appealing?

A : millennials

B : baby busters

C : baby boomers

D : baby boomlets

Correct Answer : B

50 : What is a common outcome when younger workers and older workers complete projects
together?

A : areduction in the younger workers' negative beliefs about older workers

B : anincrease in the younger workers' resentment towards older workers

C : younger workers need greater motivation

D : anincreasein conflict

Correct Answer : A

51 : What is the purpose of McJOBS?

. to increase the number of workers in Canadian organizations

: to recruit, train, and retain individual s with disabilities at McDonalds
. to recruit, train, and retain all individuas who work at McDonalds

. to recruit the best and brightest for positions at McDonalds

(W@

Correct Answer : B

52 : What is the major difference between prejudice and discrimination?
. Discrimination has more of an impact on productivity than prejudice.
. Prejudice refers to an attitude and discrimination refers to behaviour.
: Prgjudice has more of an impact on productivity than discrimination.
. Prejudice refers to behaviour and discrimination refers to an attitude.

(W@

Correct Answer : B

53 : You are the manager of a department with a diverse work group, where white males
comprise the largest subgroup. Many of the white males resent having to work alongside female
and minority employees who have less seniority and work experience but are paid the same.
Several conflicts between the white males and other employees have disrupted the workplace.
What approach would be most appropriate and effective in dealing with this situation?

A : indicate that inappropriate behaviour is not tolerated, and encourage open and frank discussionsin a series of
meetings

B : fire the white male perpetrators

C : extend preferential treatment to female and minority employees

D : urge female and minority employees to take legal action against those who have caused problems

Correct Answer : A
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54 : What is necessary in order to manage diversity?

. complying with the Canadian Employment Equity Act

. assimilating women and minorities into adominant male culture
: examining hidden assumptions held by employees

. being agood corporate citizen

(W@

Correct Answer : C

55 : What is a benefit of workplace diversity?

: critical thinking increases as employees must take more time to try to understand what the others are saying
. the time increases for making decisions due to cultural variations

: the best people can be hired for the organization

. diversity can lead to reduced communication

(W@

Correct Answer : C

56 : Which of the following includes honesty, loyalty, sincerity, courage, reliability,
trustworthiness, benevolence, sensitivity, and cooperativeness?

A : virtues

B : humanity
C : ethics

D : vaues

Correct Answer : A

57 : Kaitlyn wonders if she would make the same decision as her employee if she had been in
the same situation. Which theory is this an example of?

A : cultural based

B : motive based

C : consequence based

D : rule based

Correct Answer : D

58 : A CEO takes a reduction in salary and bonus as the company struggles with downsizing,
layoffs, and staying profitable. What type of justice does this portray?

A . compensative

B : distributive

C : procedural

D : ethica

Correct Answer : B

59 : What theory suggests that right and wrong are determined by the consequence of the
action and we should maximize the most good for the greatest number of people?

- utilitarianism

: cultural relativism

- rule-based ethics

: universal moralism

(W@

Correct Answer : A
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60 : Which theory do organizations most commonly SuUbSCribe 1077

. consequential ethics
. cultura relativism

. rule-based ethics

. universal moralism

OO wm>»

Correct Answer : A

61 : Where is sexual harassment in the workplace more likely to occur?
. where thereis minimal publicity

. in acompany where there are an equal number of males and females

: in amale-dominated environment

: Where the company has an ability to settle complaints with minimal disruption

OO w>»

Correct Answer : C

62 : What type of sexual harassment involves implicit or explicit demands for sexual favours by
threatening negative job-related consequences or promising job-related rewards?

A : biased sexual force

B : sexual coercion

C : gender harassment

D : sexual exploitation

Correct Answer : B

63 : A male employee is issued a written reprimand when returning late from lunch. A female
employee in the same department returns late and is not disciplined. What is this issue a
guestion of?

A : uniform standards

B : sexual harassment

C : digtributive justice

D : procedural justice

Correct Answer : C

64 : Sahil informed the board of directors that the company was falsifying financial reports What
has occurred?

. Sahil believesthat there isalack of procedural justice.

. Sahil believes the accounting department is acting ethically.

. Sahil is concerned about his corporate and social responsibility.

: Sahil has engaged in whistle-blowing.

OO w>»

Correct Answer : D

65 : How are social responsibility and code of ethics similar to each other?
. Both involve an individual who believes there has been a mora wrong.

. Both believe thereis an ethical imperative.

. Both subscribe to the character theory of ethics.

: Both require either the individual or the organization to behave ethically.

UOWZD

Correct Answer : D

66 : A computer system is used in decision making to ensure compliance with accessibility
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standards. What type of system is being used?

A : expert system

B : MISsystem

C : CAD system

D : technology system

Correct Answer : A

67 : What has been the result of the ever-increasing use of the Internet and electronic
innovation in the workplace?

A : agreater level of respect for the employee

B : surveillance of employeesis more widespread

C : limitation of economic growth in North America

D : the ability to appropriate value

Correct Answer : B

68 : Spiro’s new job has flexibility, in that he can work from home, which allows him to save
commuting time a few days each week, and allows him to get his kids to school these mornings.
What is Spiro engaging in?

: e-mailing

. using an intranet

. using the Internet

. telecommuting

(W@

Correct Answer : D

69 : Larger office facilities are sometimes broken into a network of smaller workplaces that are
located close to employees’ homes. What is the term for this type of work arrangement?

A : reservations

B : celular offices

C : hoteling

D : satellite offices

Correct Answer : D

70 : What concept suggests that work occurs where people are?
. the digital age

. the wireless office

: the real-time office

: the virtual office

OO w>»

Correct Answer : D

71 : Sharon modified the technology to adapt it to her team’s needs. What has Sharon done?
A : invented the technology

B : collaborated with her team

C : innovated the technology

D : reinvented the technology

Correct Answer : D
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MATCHING

72 : Match the following:

A:

B:

C:

Collectivism

Power Distance
Globalization

. Expatriate Manager

: Transnational

Correct Answer :
A:A

B:

73 : Match the following:

A
B

C:

D

C

: Diversity

: Glass Ceiling

Prejudice

. Ability Diversity
E:

Baby Busters

F : Baby Boomers

Correct Answer :
A:

B:

74 : Match the following:

C

E

A : Utilitarianism

A : A cultural orientation in which individuals
belong to tightly knit social frameworks

B : The concept of borderless marketplace

C : The locus and distribution of power within
the organization

D : A business firm that operates in numerous
countries and employs a multicultural workforce
E : A Canadian business official who works for
a Canadian subsidiary in Spain

A : McJOBS

B : Individual attitudes present in the workforce
C : Individual differences present in the
workforce

D : Individuals born between 1946 and 1964

E : An artificial barrier that prevents women
from advancing above a certain organizational
level

F : Individuals born between 1965 and 1976

A : Match the following:
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B : Distributive Justice
C : Social Responsibility

D : Consequential Theory

Correct Answer :
A:E

75 : Match the following:
A : Code of Ethics

B : Procedural Justice
C : Whistle-blower
D : Professional Oath

Correct Answer :
A:C

76 : Match the following:
A : Expert System

B : Technology

C : Reinvention

D : Telecommuting
E : Robots

F : Whistle-blowing

Correct Answer :

B~ An ethical perspecitive that focuses on
results of behaviour

C : The collective ethical conduct of an
organization

D : Fairness of outcomes received by
organizational members

E : Suggests that right and wrong is determined
by the consequences of the action

A : An organizational informant or someone
who reports corporate wrongdoing

B : Fairness of the process and/or criteria used
to allocate outcomes

C : A credo or recorded set of accepted and
ethical behaviour

D : A public statement in which one agrees to
follow a set of ethical standards

A : Rules, procedures, tools, and equipment
used to transform inputs to organizational
outputs

B : Working from home

C : Informing the authorities of wrongdoings
within their company

D : Electro-mechanical devices designed and
operated to perform manufacturing tasks

E : Representation of human knowledge as a
computer program

F : Creative application of new technology
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ESSAY

77 : Briefly discuss the issues an organization would want to consider or understand if it were
interested in a business venture within China.

Correct Answer : Chinese managers’ business practices have been shaped by the Communist
party, socialism, feudalistic values, and guanxi (the practice of building networks for social
exchange). In China, the family is regarded as being responsible for a worker’s productivity,
and in turn the company is responsible for the worker’s family. Chinese managers have very
little experience with rewards and punishments, and are reluctant to use them in the workplace.
Americans would need to build their own networks, understand the Chinese chain of command,
and negotiate slow, general agreements in order to interact effectively.

78 : Describe North American business culture using Hofstede’s dimensions of cultural
differences.

Correct Answer : The business and economic culture emphasizes individualism, low to
moderate power distance, low to moderate uncertainty avoidance (or moderate risk taking),
masculinity, and short-term time orientation.

79 : What are some of the significant workforce composition changes that have been taking
place since World War 11? (Mention three.)

Correct Answer : ? More women in the workforce—up to 61.5 percent in 2017.? Increase in
Aboriginal population.? The number of female political leaders has grown dramatically
worldwide in recent decades. In the 1970s there were only five such leaders. In the 1990s, 21
female leaders came into power, and women around the world are leading major global
companies.? Proportion of seniors within the population has been steadily growing since 1960.
Seniors are expected to comprise around 25 percent of the population by 2036.? Increase in
foreign-born population.? More individuals with disabilities in the workforce.M

80 : Are legal requirements and ethical standards synonymous?

Correct Answer : They are close but not the same. Staying just within the law could also border
on being unethical. In other words, a person could be found to have met legal technical
requirements but his or her _ehavior might be considered unacceptable from an ethical
viewpoint.
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81 : Imagine that you are working for an organization that produces a highly controlled and

experimental drug that is targeted for the treatment of a rare virus. Unfortunately, someone
close to you has contracted the disease, and it appears that the only hope this person has is to
obtain the experimental drug. At this time, however, there is absolutely no way you could obtain
the drug under legal means. Using each of the three classifications of ethical theories
(consequential, rule-based, and cultural), briefly describe what you would do.

Correct Answer : Consequential: Under this perspective you could argue that the greatest good
will be served (saving your friend), and you may rationalize stealing the drug to save the life.
Here, good consequences do not always follow from right actions.Rule-based theory: Under this
perspective the character of the act would not allow you to steal the drug. The character of the
act, not the effect, is the driving force. Under Kant’s categorical imperative it simply is wrong to
steal, a necessary universal standard. The self-interest of human beings is God’s providence,
or there are rule-based guides to moral behaviour.Cultural relativism: Here, you would do what
is right given the context. If a more consequential base were the norm, then you would likely
take the drug.

82 : What technological changes have been taking place in virtually all work environments and
what impact will they have on workers?

Correct Answer : The major changes include telecommuting, use of expert systems, robotics,
use of the Internet, digital telecommunications, desktop computing capability (measured in
terabytes), networking, improvements in traditional materials which will mean declines in jobs
that produce raw materials, advances in biotechnology (i.e., ability to manipulate life forms at
the cellular and subcellular levels), and superconductivity.Implications for managers and
employees include the use of computers for monitoring employees (double-edged sword),
emphasis on managers’ technical skills as well as human and conceptual skills, use of
participative management styles, open communication, and the need to help workers manage
the stress of their work. Workers must constantly learn and adapt to changing technology so
that organizations can remain competitive. Managers must grapple with the challenge of helping
workers adapt and make effective use of new technologies.
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TRUE/FALSE

1 : When a behaviour has been learned it can be thought of as a skill.
A : true
B : false

Correct Answer : A

2 : According to Robert Gagné, learning outcomes associated with training can be classified into
five general categories: declarative knowledge, intellectual skills, cognitive strategies, motor
skills, and procedural knowledge.

A : true

B : false

Correct Answer : B

3 : Kurt Kraiger and colleagues developed a classification scheme for learning outcomes that
includes cognitive outcomes, skill-based outcomes, and affective outcomes.

A :true

B : false

Correct Answer : A

4 : According to the “resource allocation theory,” performance of a new task is determined by
individual differences in attentional and cognitive resources, the level of complexity of the task,
and external environmental factors used to allocate attention across tasks.

A :true

B : false

Correct Answer : B

5 : In the third and final stage of learning, performance is said to be independent of the level of
attention paid by the trainee in performing the task.

A true

B : false

Correct Answer : A

6 : Given that individuals have learning style preferences, better learning outcomes take place
when only preferred learning styles are used in the learning process.

A :true

B : false

Correct Answer : B

7 . Skinner and the behaviourist school of psychology believe that learning is a result of reward
and punishment contingencies that follow a response to a stimulus.

A true

B : false

Correct Answer : A
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8 : Conditioning theory Suggests that trainees should be encouraged and reinforced throughout

the training process.
A :true
B : false

Correct Answer : A

9 : Marie, a recent graduate from an automotive college, believes she can rebuild a car engine
without much difficulty. Marie’s belief in her ability to complete the task successfully is referred
to as “generalized transfer of learning.”

A :true

B : false

Correct Answer : B

10 : Social cognitive theory involves three key components: observation, self-efficacy, and
feedback.

A true

B : false

Correct Answer : B

11 : “Adult learning” should be self-directed and problem centred and should take into account
the learner’s existing knowledge and experience.

A :true

B : false

Correct Answer : A

12 : Workplace learning refers to the process of acquiring job-related knowledge and skills
through formal training programs and informal social interactions among employees.

A true

B : false

Correct Answer : A

13 : The 70-20-10 model states that 70 percent of workplace learning comes from on-the-job
experiences, 20 percent comes from education, and 10 percent from formal learning activities
and events.

A : true

B : false

Correct Answer : B

14 : It has been reported that 70 to 90 percent of what employees learn and know about their
jobs is learned through formal processes rather than through informal programs

A :true

B : false

Correct Answer : B

15 : Email is the most used method for informal learning followed by accessing information from
the organization’s intranet.
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A : true
B : false

Correct Answer : A

16 : There are two types of goal orientations, including a mastery or learning goal orientation
and a performance goal orientation.

A : true

B : false

Correct Answer : A

17 : Training motivation predicts learning and training outcomes and is influenced by
environmental and individual factors.

A :true

B : false

Correct Answer : A

18 : Training motivation predicts training outcomes but NOT beyond the effects of cognitive
ability.

A true

B : false

Correct Answer : B

19 : Peter will be able to graduate from university in four years if he takes 40 university-level
courses. This type of goal should be classified as a proximal goal.

A :true

B : false

Correct Answer : B

20 : Learning goals are “process-oriented” and focus on the learning process. Performance
goals, on the other hand, are “outcome-oriented goals,” thus focusing attention on the
achievement of specific performance outcomes.

A :true

B : false

Correct Answer : A

21 : A trainee’s cognitive abilities influence how much and how quickly a trainee will learn,
impacting actual job performance.

A true

B : false

Correct Answer : A

22 : Core self-evaluation is a personality variable that represents an individual’s self-appraisal
of his worthiness, competence, and capability as a person.

A :true

B : false
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Correct Answer : A

23 : According to Fleming, an individual’s learning style is a function of how she gathers
information and how she processes information.

A :true

B : false

Correct Answer : B

24 : According to Kolb, learning style is an individual’s preferred ways of gathering, organizing,
and thinking about information.

A : true

B : false

Correct Answer : B

25 : Self-regulation prompts ask trainees questions about their preferred style of learning.
A true
B : false

Correct Answer : B

SHORT RESPONSE

26 : List and briefly describe the five general categories of learning outcomes identified by
Gagné. Provide an example of each.

Correct Answer : The five categories are(1) verbal information — facts, knowledge, principles,
and information, also called declarative knowledge;(2) intellectual skills — learning concepts,
rules, and procedures, also called procedural knowledge;(3) cognitive strategies — application of
information and techniques and knowing how and when to use them;(4) motor skills — physical
movement that involves the use of muscles; and(5) attitudes — preferences and internal states
as a result of our beliefs and feelings.

27 : a) Define locus of control. Differentiate between internal and external locus of control, and
explain the impact of locus of control on training motivation.b) Postulate why those with an
internal locus of control might have higher training motivation.

Correct Answer : a) Locus of control refers to people’s beliefs about whether their behaviour is
controlled mainly by internal or external forces. People with an internal locus of control believe
that they can control their own behaviour, while those with an external locus of control believe
that their behaviour is determined by outside forces. Locus of control is an important factor of
training motivation, because those with an internal locus of control have higher training
motivation.b) Students may have different views toward this answer as the textbook is silent on
this issue. Possible answers may include the notion that if the trainee is ultimately responsible
for his/her motivation level, he/she may in fact commit greater effort toward learning and effort is
linked to training motivation.

28 : a) List and briefly describe the four characteristics goals must have in order to be
motivational.b) An important characteristic of goals is the notion of “goal orientation.” Identify
two general types of goal orientations and provide a brief example of each.
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Correct Answer : a) In order for a goal to be motivational, it must be specific in terms of its level
and time frame, challenging enough to be difficult but not impossible to achieve, and
accompanied by feedback in order to know whether or not progress is being made; finally, there
must be a commitment to achieving the goal.b) Learning goals are process-oriented and focus
on the learning process. They enhance understanding of the task and the use of task strategies.
Performance goals are outcome-oriented goals that focus attention on the achievement of
specific performance outcomes. Many possible answers offer examples of learning goals and
performance goals. For example, a sales person learning a five-step sales process wants to
understand the linkages between each step in the sales process (learning orientation). The
same sales person wants to attain the highest score on a sales class final exam (performance
orientation).

29 : Compare and contrast Kolb’s and Fleming’s models of learning styles.

Correct Answer : Kolb’s learning styles have to do with the way that people gather information
and process and evaluate it. Some people prefer to learn by reading while others prefer to learn
by actually doing something. There are two modes that people use to gather information and
two modes that people use to process and evaluate information. When you combine each mode
for gathering information with each mode for processing and evaluating information, you have
four learning styles. A converging learning style combines abstract conceptualization and active
experimentation (thinking and doing). A diverging learning style combines concrete experience
and reflective observation (feeling and watching). An assimilating style combines abstract
conceptualization and reflective observation (thinking and watching). An accommodating
learning style combines concrete experience and active experimentation (feeling and
doing).Fleming’s learning style has to do with an individual’s preferred ways of gathering,
organizing, and thinking about information. There are four different perceptual preferences for
how people prefer to learn. VARK is an acronym for the four different perceptual preferences or
learning styles (visual, aural/auditory, read/write, and kinesthetic). The VARK model is based on
how individuals prefer to receive information through four sensory modalities

30 : Contrast the learning needs of children vs. the learning needs of adults in terms of
personality, motivation, roles, openness and barriers to change, experience, and orientation to
learning.Now that you have contrasted the learning needs of children vs. adults, identify how an
instructor could use those differences to enhance the learning experience of students.

Correct Answer : Children have a dependent personality, while adults have independent
personalities. Children are extrinsically motivated and adults are intrinsically motivated. Children
have few roles (student, child), while adults have many roles (employee, parent, spouse, citizen,
etc.). Children are open to change, while adults have ingrained habits and attitudes. While
children have few barriers to change, adults have many including the possibility of a negative
self-concept, limited opportunities and time, and being exposed to inappropriate teaching
methods. Children have limited experience to draw on, while adults have vast experience. The
orientation to learning is subject-centred for children, and problem-centred for adults.Look for
students to link each of the variables above with a specific pre/during class activity that would
support learning for children and adults.

31 : Describe four ways in which organizations can encourage informal learning. Briefly discuss
the role that informal learning plays in workplace learning.

Correct Answer : See The Trainer's Notebook 2.1.« Encourage employees to foster informal
learning in organizations.s Form casual discussion groups of employees with similar projects
and tasks.s Create meeting areas that can be used by employees to congregate and
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communicate.s Remove physical barriers that prevent employees from communlcatlng.- Create

overlaps in shifts.e Create small teams with a specialized focus.s Allow groups to break for their
routines for team discussions.s Provide autonomy to modify work processes. Eliminate barriers
to communication and give employees authority to take training on themselves.s Condense
office space and make room for an open gathering area.» Match new hires with seasoned
employees.Informal means of learning, such as employees teaching each other their tips and
tricks for performing tasks, account for more than half of all workplace learning, so it is very
important that it be encouraged and supported in a systematic way.

32 : Compare and contrast andragogy and pedagogy and describe the six core assumptions
about the adult learner.

Correct Answer : Andragogy refers to an adult-oriented approach to learning that takes into
account the differences between adult and child learners. Pedagogy refers to the more
traditional approach of learning used to educate children and youth. Pedagogy assigns full
responsibility to the instructor for making decisions about what, how, and when something will
be learned and if it has been learned.Andragogy makes six core assumptions about the adult
learner: need to know, learner self-concept, learner’s experience, readiness to learn,
orientation to learning, and motivation to learn. Adults need to know why they must learn
something before they learn it. Adults have a self-concept of themselves that they are
responsible for their own life decisions. Adults have acquired a great deal of experience in their
lives and they differ from children and youth in terms of both the quantity and quality of
experiences. Adults are ready to learn when there are things they need to know to improve and
manage aspects of their life or to perform a task. Children and youth’s orientation to learning is
subject oriented while adults’ orientation to learning is life-centred and focused on task
performance and solving problems. Adults respond positively to external motivators such as
promotions and pay raises but they are primarily motivated by internal motivators such as self-
esteem and opportunities for growth and development.

MULTIPLE CHOICE

33 : Which of the following points is NOT supported by material in the textbook?
: Training is simply the means for accomplishing the goal.

. Training isthe process of acquiring knowledge and skills.

: Training occurs when a new behaviour has been learned and it can be thought of as a skill.

. Training isthe distal goal of training and devel opment.

OO wm>»

Correct Answer : D

34 : According to Robert Gagné, which of the following is generally related to the learning
outcomes associated with intellectual skills?

A : being able recall the capital of Argentina

B : being able to remember the last three Stanley Cup winners

C : being able to recite the al phabet

D : being able to operate atractor

Correct Answer : D
35 : Drawing on Gagné’s classification scheme, Kurt Kraiger and colleagues developed a

multidimensional classification scheme of learning outcomes. What outcomes would Kraiger
and colleagues include under their “affective outcomes” scheme?
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. knowledge organization and declarative knowledge outcomes

: attitudinal and motivational outcomes
: technical or motor skills and compilation outcomes
. cognitive and declarative outcomes

(W@

Correct Answer : B

36 : John Anderson’s ACT theory describes learning as a process across three stages. Which
of these stages is NOT part of the ACT theory?

A : declarative knowledge

B : knowledge compilation

C : adaptive knowledge

D : procedural knowledge

Correct Answer : C

37 : What is the first stage of the ACT theory?
. knowledge compilation
. declarative knowledge
: procedura knowledge
: knowledge acquisition

OO w>»

Correct Answer : B

38 : What conclusions would you draw from the adaptive character of thought theory (ACT
theory)?

A : It suggests that motivational interventions might be more or less effective depending on the stage of learning.
B : It recognizesthat learning is a stage-like process that involves four important stages.

C : It indicates that similar types of learning take place at different stages throughout the learning process.

D : It relies on a complete assessment of the training needs of the participants prior to designing the training event.

Correct Answer : A

39 : Which of the following is NOT an implication you would draw from understanding Kolb’s
learning styles theory?

A : trainees differ in the way they prefer to learn

B : training methods should be aligned with the trainee’ s learning preferences

C : atrainee slearning style is related to how trainees acquire knowledge in training and how they use information
onthejob

D : training design should consider so-called learning modes

Correct Answer : C

40 : Which psychologist’s theories support the following statement: “Learning is a relatively
permanent change in behaviour in response to a particular stimulus or set of stimuli"?

A : David Kolb

b.

B : F. Skinner

C : Robert Gagné

D

: Neil Fleming

Correct Answer : B
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41 : The conditioning process includes three distinct yet connected concepts. Under which

concept would a trainer reward each step as the trainee masters it in completing a complex
task?

. shaping

. generalization

. chaining and generalization

: shaping and chaining

OO w>»

Correct Answer : A

42 : You have been asked to write a short report highlighting key points on how conditioning
theory principles may be used in training. Which of the following points is NOT likely to be
included in your report?

A : training material should be broken up into logical parts

B : trainees should be rewarded and encouraged throughout the training process

C : generalization means that the conditioned response occursin circumstances different from those in the training
environment

D : trainees should only be rewarded when they are able to generalize concepts learned in the training process

Correct Answer : D

43 : Which of the following best describes the conditioning theory concept known as
generalization?

A : the conditioned response occurs in circumstances different from those during learning

B : thereinforcement of each step in a process until it is mastered

C : thereinforcement of entire sequences of atask

D : the desired behaviour that is associated with alearning outcome

Correct Answer : A

44 : John, a novice sky diver, is told by his close friends that given the level of training he has
received he should be able to perform his first jump “without any problems.” From a training
and motivation perspective, what are John’s friends trying to do?

A : increase John's self-awareness

B : increase John's chaining ability

C : increase John's self-efficacy

D : increase John's self-regulation

Correct Answer : C

45 : Observational learning requires four key elements: attention, retention, reproduction, and
reinforcement. What type of activity is associated with reproduction?

. employees must be aware and observe the behaviour

. employees must observe and encode the behaviour

: employees must practise and rehearse the behaviour

. employees must continue to apply the behaviour

OO w>»

Correct Answer : C

46 : What additional input must be incorporated into social cognitive theory for observed
behaviours to be attempted?

A : self-motivation

B : self-assessment
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C : sdf-regulation
D : sdf-efficacy

Correct Answer : D

47 : You just found out you are going to lead a training class made up primarily of adult
learners. You recall from a previous training and development class that significant differences
exist in the design and delivery of training programs geared toward adults versus children.
Which of the following statements about how you should approach the training is NOT
congruent with adult learning theory?

A : develop training content around theoretical frameworks versus work-related needs and interests

B : include the trainees in the design and delivery of the training program

C : include the trainees in the needs analysis process

D : attempt to explain the value of the training program and, when possible, incorporate the experiences of the
trainees and use them as examples

Correct Answer : A

48 : Which of the following characteristics are congruent with the notion of informal learning?
. spontaneous, immediate, and task-specific

. strategic, goal-oriented, and long-term focused

. structured, group-focused, and unplanned

: defined, organization-wide, and explicit

OO0 w>

Correct Answer : A

49 : Which of the following is a factor that differentiates formal and informal learning?
> culture

: climate

. management style

: process driven

OO w>

Correct Answer : D

50 : According to the textbook, what are the two most used methods for informal learning?
: face-to-face interactions and email communication

: socia networking and Internet searches

. structured mentoring and coaching sessions

: email communications and intranet sites

OO w>

Correct Answer : D

51 : The textbook identifies several reasons that informal learning is becoming more prevalent in
organizations when compared to formal learning. Which of the following is NOT a reason
supported by the material in the textbook?

A : Organizations are finding time constraints impact their ability to deliver formal learning.

B : What islearned tends to be used on the job immediately when informal |earning methods are used.

C : Informal learning has been found to deliver consistent learning outcomes.

D : Informal learning has a significant effect on performance.

Correct Answer : C

52 : You have been asked to do a short presentation to your class describing the differences
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between formal andinformal Iearning. VWhich of the following points iS NOT likely to be included

in your presentation?

A : Unlike formal learning, informal learning tends to be highly unstructured.

B : Control over learning outcomes rests with the organization under formal learning processes.

C : Formal learning tends to be tailored to individuals' learning needs much more so than informal learning.
D : Formal learning processes often create time gaps between learning and application on the job.

Correct Answer : C

53 : Why is the concept of informal learning receiving so much attention from managers?

A : because of the need to reduce expenditures in training and development

B : because of the speed of change and demographic redlities

C : because of the level of attention the topic of informal learning has received from academics and management
gurus

D : becauseit requires fewer resources and management attention

Correct Answer : B

54 : According to goal-setting theory, goals can be motivational if they have some specific
characteristic. Which of the following would NOT be considered one of those characteristics?
A : time-bound

B : challenging

C : proximal in design

D : supported with feedback

Correct Answer : C

55 : John wants to be a member of Canada’s Olympic hockey team in ten years. What kind of
goal is John pursuing?

A : mastery

B : digtal

C : proximal

D : performance

Correct Answer : B

56 : How is the concept of training motivation defined?

. trainees’ beliefs about how their behaviour is controlled

. the direction, intensity, and persistence of |earning-directed behaviour

. the motivation that stems from a direct relationship between aworker and the task
. the relationship between worker, task, and valence

OO w>

Correct Answer : B

57 : Training motivation is synonymous with which of the following?
: motivation to learn

. motivation to train

. motivation to perform

. motivation to change

OO w>

Correct Answer : A

58 : What training conclusions can be drawn for individuals with an internal locus of control?
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: they tend to have |ower self-efficacy for training

. they tend to have higher training motivation
: they tend to have higher anxiety about training
. they tend to make aweaker link between effort and training

(W@

Correct Answer : B

59 : Which of the following statements is correct in relation to goal orientation?

A . mastery goals are needs-oriented and focus on learning processes

B : mastery or performance goals have no impact on learning outcomes

C : goal orientation may influence task performance as well as cognitive, affective, and motivational processes
D : when learning to perform a new task, setting a difficult performance outcome goal has been found to be
detrimental for performance

Correct Answer : C

60 : Training leads to declarative knowledge, the acquisition of skills and abilities, and the
retention of both over time. According to the model of training effectiveness, what other factor
does NOT impact a trainee’s ability to learn and retain information and knowledge?

A : atrainee's attitude toward higher job

B : atrainee's “self-belief”

C : atrainee’s mental ability

D : organizational effectiveness

Correct Answer : D

61 : Marie, a fourth-year human resource student, is able to comprehend and summarize
Chapter 2 of the textbook to a very high standard. What is Marie demonstrating?

A : intellectual capital

B : human capital

C : cognitive ability

D : psychomotor ability

Correct Answer : C

62 : Which of the following is NOT considered to be part of core self-evaluations?
. self-esteem

. conscientiousness

: general self-efficacy

. locus of control

OO w>»

Correct Answer : B

63 : You are a senior human resource manager with a Canadian organization. On your way
back home from a business trip, you stumble across an article praising the effectiveness of
informal learning. You decide your organization should facilitate a work environment that
promotes informal learning. Which of the following is NOT likely to be an action you will take?
A : creating work processes that require team involvement by members from different parts of the organization
B : removing physical barriers so as to facilitate regular contact between management and employees

C : providing work teams with less autonomy so as to ensure quality control over outcomes

D : condensing office spaces and making room for an open gathering area for coffee breaks and socializing

Correct Answer : C
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64 : Where does workplace learning come from according to the 70-20-10 model?

A : 70 percent from relationships and interactions with others, 20 percent from on-the-job experiences and
assignments, and 10 percent from formal learning activities and events

B : 70 percent from on-the-job experiences and assignments, 20 percent from formal learning activities and events,
and 10 percent from relationships and interactions with others

C : 70 percent from on-the-job experiences and assignments, 20 percent from relationships and interactions with
others, and 10 percent from formal learning activities and events

D : 70 percent from formal learning activities and events, 20 from on-the-job experiences and assignments, and 10
percent from relationships and interactions with others

Correct Answer : C

65 : If a trainer wants to ensure that she is following the 70-20-10 model, how much formal
training should she be providing to employees?

. 70 percent

. 20 percent

: 10 percent

. 30 percent

o0 wm>»

Correct Answer : C

66 : If a trainer wants to make sure that a training program is appropriate for trainees’ learning
styles and most of the trainees prefer concrete experience and reflective observation, what
learning style should the trainer focus on?

: converging

. accommodating

: assimilating

. diverging

o0 wm>»

Correct Answer : D

67 : If a trainer wants to use Fleming’s model and make use of all four learning styles, then
which of the following should be included in the training program?

A : visual, aural/auditory, read/write, and knowledge

B : visual, aural/auditory, read/write, and kinesthetic

C : abstract conceptualization, active experimentation, concrete experience, and reflective observation

D : converging, diverging, assimilating, accommodating

Correct Answer : B
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